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=-0.0221=-2.21 %
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G,, =G,, +COA +BOC =70.32+18.25+26.54=[115.11gr

G,. =G, +COA =7032+18.25=[88.57¢r
:Aaadadl) ililaaY) Lyl ABC) dakidl) dalis oo .2
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20

0.25

0.25

0.25

0.25

0.25

0.25

) cldlaa) clws .3
X, =X,+AX ,,=X,+[,,sinG,,
X, = 160.00+64.5><sin(70.32gr) =160.00+57.61=|217.61m
Y,=Y, +AY,,=Y,+Y  ,*c08G,,
Y, = 280.00+64.5><cos(270.32gr) =280.00+29 ={309.00m
X, =X,+AX ; =X, +1],,snG,,
X, =160.00+52.40xsin(115.11gr) =160.00 +50.93 =210.63m
Y, =Y, +AY , =Y, +1,5%c08G
Y, =280.00+52.40xcos(115.11gr) = 280.00-12.32 =|267.68m
X.=X,+AX . =X, +1,,s1nG.
X, =160.00+28.25xsin(88.57gr) =160.00 + 27.80 =
Y. =Y, +AY . =Y, +],.c0sG,,

Y. =280.00+28.25xcos(88.57gr) = 280.00 +5.04 =|285.04m
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